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04 JI2ZtHZ22HEE =+ 31,084 14,343 16,741
OE=ZET AgEX 48,2803 x2H «300 28,968
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SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
XS XA 752
- SEX 100, 000& *2[H *23] 400
St=2 Xt 88,000& x2CH *x23] 352
- ANESXHEAIE 30,000 *4CH *13] 120
-ANsSXHEE= 2,700
s 700, 0003 =204 1,400
Eag=-Rel— 650, 000& =24 1,300
=Dl P == 540
X 35,000 *4CH *23] 280
AN&EZ2 130,000& *x23] 260
sl el B el [P s = 102,300& =128 1,228
-TVAtE = 30,000& x12& 360
- [MXSE GPS A2 Z 20,000& x12& 240
(@) sK=3] 5,718
-OtMESEdE A 941.27 & *100 *402| & 3,766
=R 941.27&*100 *15¢2| £ 1,412
- LPGItA Y 45,000 1S +12& 540
OA & &Hl S XYl 7,766
- EHANRXE 1,600
- XTHAEY 250
- 2ZY94dHIISHE=EY 4,200
-2o3HEY 143,000 *12& 1,716
O Xt &k Bt 15,580
-U=sds8 3,950,000& *2CH 7,900
-A283= 3,840,000& *2CH 7,680
301 dEtE A= 8,307 8,307 0
0B MBI =ERLIEAS 8,307 8,307 0
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- 8kx 240,407
- 532 4,115,300& x1H x12& 49,384
63 3,492, 200& x2H x12& 83,813
72 2,111,800 x3H x12& 76,025
= 2,598, 700& x1H x12& 31,185
-3 E 75,195
A AL 3,133, 100& x2H x12& 75,195
o83z2s¢ 24,634
Oz 49,023
- AN2HA2R2FE 37,335
- S E2ZA AIZHSL 11,688
(OGRS LE= 43,529
-IEx¢ 4,080
b < Xt 40,000& x5H x12& 2,400
A E=H S 20,000& x7H x12& 1,680
-NEEHEXS 7,424
E=S-1am 464,000 x4 Y 43| 7,424
- &2 3 7,080
25E 0] &f 130,000& x1H ~12& 1,560
20 0] &t 110,000 x 128 12 1,320
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- 10E O] & 60,000& x2H x12& 1,440
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-E 2L 4,680
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-HRBFIE 4,420
HLE 62 3,449,000 x4 . 1%*x1H « 128 1,697
Qurx 732 2,284,000& x4 1%*x1H «12& 1,124
A AL 3,250,000 x4 . 1%*x1H «12& 1,599
-olegeaa 9,000
>0/ xd 150,000& x5H «12& 9,000
- RAI S 1,920
AR 80,000& x2H x12& 1,920
-Jlsd2sY 480
ANged 3 20,000& x1H ~12& 240
IsdELE JIAZ2 20,000 x1Hx128 240
-2 YgRLE 4,115,300 18 x9%x 122 4,445
OFHZ A 130,000& *9H x12& 14,040
OY&E S| 315,596,000 /12 *120% 31,560
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O8=0lat 105,000& 1H 128 1,260
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04 i 10,000 10,500 A 500
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AL S =AY 320 320 0
OFSE- PN W RSES] 40,0003 +8H 320
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AR =H A 1,800 1,800 0

01 Mg 1,800 1,800 0
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